
  𝑙𝑜𝑔12ଷ =

𝑙𝑜𝑔3௫ାସ =

2𝑥𝑙𝑜𝑔5 − 𝑥𝑙𝑜𝑔3 =

3𝑙𝑜𝑔12 =

𝑙𝑜𝑔10 =

𝑙𝑜𝑔ହ 12 =

𝑙𝑜𝑔100 =

𝑙𝑜𝑔20 =

𝑙𝑜𝑔0.2 =

𝑙𝑜𝑔0.1 =𝑙𝑜𝑔. 01 =

𝑙𝑜𝑔1000 =

𝑙𝑜𝑔85 =

𝑙𝑜𝑔12345 =

𝑙𝑜𝑔5 =

𝑙𝑜𝑔9 =

𝑙𝑜𝑔240 =

𝑙𝑜𝑔1 =

𝑙𝑜𝑔0 =

𝑙𝑜𝑔 − 1 =

𝑙𝑜𝑔10ଵଶଷସହ =

𝑙𝑜𝑔4528 =

𝑙𝑜𝑔25ଶ = 𝑙𝑜𝑔100ଶ = 𝑙𝑜𝑔10ିଶ =

𝑙𝑜𝑔଼ 3 = 𝑙𝑜𝑔ଶ 8192 = logଶ 128 =

2𝑙𝑜𝑔25 = 2𝑙𝑜𝑔100 = −2𝑙𝑜𝑔10 =

Solve using your calculator or your brain.

𝐸𝑥𝑝𝑎𝑛𝑑: 𝐵𝑟𝑖𝑛𝑔 𝐸𝑥𝑝𝑜𝑛𝑒𝑛𝑡 𝑑𝑜𝑤𝑛 𝑖𝑛 𝑓𝑟𝑜𝑛𝑡 𝑎𝑛𝑑 𝑑𝑖𝑠𝑡𝑟𝑖𝑏𝑢𝑡𝑒

𝑙𝑜𝑔8ଶ௫ିଵ = 𝑙𝑜𝑔8ି௫ାଵ =

  2𝑙𝑜𝑔6ସ =   −𝑙𝑜𝑔5ଶ =   3𝑙𝑜𝑔6ିସ =   2𝑙𝑜𝑔10
ଵ
ଶ
⎯⎯=

  2𝑙𝑜𝑔4௫ାଶ =

Remove a greatest common Factor of 𝑥

𝑥𝑙𝑜𝑔7 − 𝑥𝑙𝑜𝑔2 = 𝑥𝑙𝑜𝑔20 − 𝑥𝑙𝑜𝑔2 =
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𝑙𝑜𝑔 2𝑥 = log (𝑥 + 1) 𝑙𝑜𝑔 𝑥 = log (2𝑥 + 1)

𝑙𝑜𝑔 2𝑥 = log (𝑥 − 3)

𝑙𝑜𝑔ଶ 𝑥 = logଶ(3 − 𝑥)

𝑙𝑜𝑔 𝑥 = log (𝑥ଶ − 2)

log଻ 3𝑥 = log଻(𝑥ଶ − 4)logସ 𝑥 + logସ 𝑥ଶ = logସ 27𝑙𝑜𝑔 𝑥 + 𝑙𝑜𝑔𝑥 = 𝑙𝑜𝑔4

𝑙𝑜𝑔 𝑥ଶ + 𝑙𝑜𝑔𝑥ଶ = 𝑙𝑜𝑔81 2 𝑙𝑜𝑔 𝑥 + 𝑙𝑜𝑔𝑥ଶ = 𝑙𝑜𝑔93 𝑙𝑜𝑔 𝑥 + 𝑙𝑜𝑔𝑥 = 𝑙𝑜𝑔256

𝑙𝑜𝑔 𝑥ଶ − 𝑙𝑜𝑔𝑥 = 𝑙𝑜𝑔5 3 log଻ 𝑥 + log଻ 𝑥ଶ = log଻ 32

3 logଽ 𝑥 + logଽ 𝑥ଶ = logଽ 32

5 logଽ 𝑥 − logଽ 𝑥ଶ = log଼ 8

logଷ(𝑥 − 2) + logଷ(𝑥 − 3) = 𝑙𝑜𝑔12

logହ(4𝑥 + 3) = 𝑙𝑜𝑔ହ(3𝑥 − 2)

logଷ(3𝑥 + 1) − logଷ(𝑥 − 2) = 𝑙𝑜𝑔4logଷ(6𝑥 + 1) − logଷ(𝑥 − 1) = 𝑙𝑜𝑔5

𝑙𝑜𝑔6 = 𝑙𝑜𝑔𝑥 − 𝑙𝑜𝑔3 𝑙𝑜𝑔24 = 𝑙𝑜𝑔𝑥 + 𝑙𝑜𝑔3 𝑙𝑜𝑔8 = 𝑙𝑜𝑔2 − 𝑙𝑜𝑔𝑥
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logଶ 𝑥 − 2 = − logଶ(𝑥 + 2)

log௫ 5 + log௫ 2 = 3

log௫ାଵ 27 − log௫ାଵ 3 = 2

log௫ିଵ 1 + log௫ିଵ 4 = 2

log௫మ 128 = log௫మ 2 + 3

logସ 𝑥 = 3 − logସ 𝑥

logଶ(−𝑥) + logଶ(3 − 𝑥) = 2

logଶ 𝑥 + logଶ 𝑥 = 2 logଶ 𝑥 + logଶ 𝑥ଶ = 6

2 logଶ 𝑥 − logଶ(𝑥 − 2) = 3

logହ(𝑥ଶ − 1) = logହ(𝑥 + 1) + 2 logଶ 5𝑥 − logଶ(𝑥 + 1) = 2

logଷ 2𝑥 − logଷ(𝑥 − 2) = 1 logଷ(3𝑥 − 12) − logଷ 𝑥 = 2
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logଶ 𝑥 + logଶ(𝑥 + 1) = 1

logଶ 𝑥 + logଶ(𝑥 − 7) = 3

logଶ 𝑥 + logଶ(𝑥 + 4) = 5

logଷ 𝑥 + logଷ(𝑥 + 2) = 1 logଷ 𝑥 + logଷ(𝑥 − 6) = 3 log଺ 𝑥 + log଺(𝑥 − 5) = 2

logଷ(𝑥ଶ + 5𝑥 + 6) − logଷ(𝑥 + 2) = 1

log଻(2𝑥ଶ + 7𝑥 + 6) − log଻(𝑥 + 2) = 2

2 logହ(𝑥 + 2) − logହ(𝑥 + 2) = 1

logଷ 2𝑥 − logଷ(𝑥 − 2) = 1 logଷ(3𝑥 − 12) − 2 = logଷ 𝑥

logଶ(2𝑥 + 4) = logଶ(𝑥 + 2) + 2
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(𝑙𝑜𝑔𝑥)ଶ + 𝑙𝑜𝑔𝑥 = 2

2(𝑙𝑜𝑔𝑥)ଶ − 3𝑙𝑜𝑔𝑥 = −1

(𝑙𝑜𝑔𝑥)ଶ = 𝑙𝑜𝑔𝑥ହ + 4

(𝑙𝑜𝑔𝑥)ଶ = 4

(𝑙𝑜𝑔𝑥)ଶ − 9 = 0

(𝑙𝑜𝑔𝑥)ଶ − 7 = 𝑙𝑜𝑔𝑥଺
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